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Answer the followin
m those given

Fill in the blanks by selecting the P
pelow each question : (Q. nos. 1 to 6)
(1) The pair of linear equations ox+y-3°

(a) a unique solution (b) two solutions
ely many solutions.

0 and 6x + 3Y ~ 9 has...

(d) Infinit

(c) No solution
atic equation has two equal roots, if.....

(2) A quadr
(a) D < 0 (b) D > 0
(c) B = 0 (d) D is non-zero perfect square
(3) 3oth term of AP = 10, 7, 4,.., is
(a) 97 (b) 77 () —Cr (d) 87
(4) If A (4, 6) and B (6, 2) are given points, then. e s is the mid-point
of AB .
(a) (5. 4 (b) 4, 5 (¢ (5, —4) (d) 4, -
(5) sin?40° * cos26 = 1 then 8 =
(a) 30° (b) 40° (c) 50° (d) 60°
eyt x - Zi= % bz~ 25 the M = < -
(a) 13 (b) 14 (c) 15 (d) 16
s iy st o T
: (Q. nos. 7 to 12) :
(7) @ + 2 is (irl‘ational, rational, Negative Integer)
x—k=0is 1. A value of xis —— (2, -2, 4
(0, 1, 0-5)

(8) The discriminant of x2 -3
(9) The probability of the certain event is A
(1, 9, 8)

(10) Osec?A — otan?A = — °
’ 1
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whether the following statements are true of falgg s
State :

A circle can have

(Q. Nos. 13 to 16)
(13) HCF of (26 and 91)is 17.
(14) The product of the zeros of X2 - 4x + 3 iq '

(16) The probability of an event is less than Or equal e, |
< Answer the following question in one sentences, word of figure .
(Q. Nos. 17 to 20) ..
(17) Write the formula of find n'h term of an Ap.
(18) What is the longest chord of circle (*él”(,"d ?
(19) If P (A) = 0.45 then find value of P(A).

(20)If x =2, M = 3 then find the value of mode () |
Match the following pairs correctly :

(Q. Nos. 21 to 24
(A)

(B)
(21) Total surface area of cone (@) nr (L + 7
(22) Volume of cylinder (b) A
.
(c) 3"
(A) (B) ‘ .\
2
(23) Area of minor sector (d) 59
180
(24) Circumference of semi circle (b) nr
(©) nr2Q
360
SECTION - B
“* Answer any9 (nine) questions out of the following 13 (thirteen) questions
with necessary calculatio

ns : (Q. nos. 25 to 37)

(27) Find the roots of quadratic €quation 3 x2 + 7Xx + 502 =0 by
factorisation method,

(28) Find the missing term in the boxes of A.p.

2, %26
(29) Given a = S5, d = 3, ey

= 50 find 'n' and 15
(30) Find the distance between th

e points (a, b)', (~a, - b)
10 - Maths (Basic)
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(31) Find the co-ordinate of the point which divides the join of (-

: i L7
(4, -3) In the ratio 2 : 3. 7) and

3
(32) If sinA = 2 calculate cosA and tanA

(33) Evaluate : sin230° + sin260°

(34) A tower stands vertically on the ground. From a point on the ground
which is 100 m away from the foot of the tower, the angle of elevation
of the top of the tower is found to have measure 60. Find the height
of the tower.

(35) Find the curved surface area of right circular cone whose slant height
is 15 cm and base radius is 7 cm.

(36) If the volume of right circular cone of height 9 cm is 487 cm?. Find
the diameter of its base.

(37)If x = 30, 5fd, = 200, £f, = 50 the find ‘a"

1

SECTION - C
& Answer any 6 (six) questions out of the following 9 (nine) questions with
necessary calculations : (Q. nos. 38 to 46 - 3 marks each) (18]

(38) Solve the following pair of linear equation by the elimination method.
3x - 5y-4=0, 9 =2y +7
(39) Solve the following pair of linear equation by substitution method

x-y=3 %4—% =6

(40) How many two digit numbers are divisible by '3' ?

(41) Find the value of 'x for which the distance between the points P
(2, -3) and Q (10, x) is 10 units.

(42) Find the ratio in which the line segment joining the points (-3, 10)
and (6, -8) is divided by (- 1, 6)

(43) Prove that the lengths of tangents drawn from an external point to
a circle are equal.

(44) Two concentric circles having radii 73 and 55 are given. The chord
of the circle with larger radius touches the circle with smaller radius.
Find the length of the chord.

(45) Find the mode for the following frequency distribution :

Class 4-8 | 8-12 [12-16 |16-20 20-24}24-28\

Frequency 9 6 12 7 15 1 ’

deck of 52 ca;ds. Find
) a red face card (¢) @

(46) One card is drawn from a well shiffted
the probability of getting (a) a face card (b
spade

3
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SECTION - D =~

X 160
“* Answer any 5 (five) questions out of the following 8 (eight) question wity,
necessary calculations : (Q. nos. 47 to 54 - 4 marks each) [20)
(47) State and prove the Basic Propotionaly theorem.
(48) In the given figure DE || AC and DF || AE.
% < 4: A
Prove that U — l}l‘
FE EC
D
| C
o F E

(49) Qhazal's mother is 26 years older than her. The product of their ages
(in years) 3 years from now will be 360. We would like to find Ghazal's
present age.

(50) Vedansh started work in 1995 at an annual salary of ¥ 5000 and
received an increment of ¥ 200 each year. In which year did his income
reach ¥ 7000 ?

(51) Find the mean of the data given below :

Class 0-10 | 10-20| 20-30 | 30-40 [40-50 | 50-60 | 60-70
Frequency 4 8 3 20 3 4 8

(52) Find the median for the following frequency distribution.

Class 4-8 8-12 |12-16 | 16-20 | 20-24 |24-28
Frequency 9 16 12 7 15 1

(53) Two fair dices are rolled simultaneously. Find the probability of the
following events.
(1) Getting the same number on both dice.
(2) The sum of numbers on two dice is greater than 12.
(3) The sum of numbers on two dice is less than 12.

(4) The sum of numbers on two dice is 8.

(54) A game of chance consists of spining an arrow which comes to the rest
painting at one of the numbers 1, 2,345 6,7,8,9, 10, 11 (See
figure) and there are equally hkely outcomes. What is the probablhty

that it will paint at

()17 2

(2) a number greater than 10 ?
(3) an odd number ?

(4) a number less than 87

4 U
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